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QUESTION 1

A Nutanix administrator receives a request from the networking team to start SNMP Traps to their central reporting
solution. The administrator creates the transport. The central monitoring tool is not able to clearly read the SNMP traps
that are being sent.

What does the administrator need to provide to read SNMP traps correctly?

A. Cluster Virtual IP address

B. SNMP Trap Port

C. TCP/IP address

D. Nutanix MIB file.

Correct Answer: D

QUESTION 2

Which service performs snapshots in an AOS 5.15 implementations?
A. Prism

B. Stargate

C. Zookeeper

D. Medusa

Correct Answer: D

QUESTION 3

Which node type does not deploy a Nutanix Controller VM?
A. Storage Only

B. Hyper Converged

C. Compute Only

D. All Flash

Correct Answer: C

QUESTION 4

An administrator needs a deploy a Nutanix Cluster that hosts the following workloads
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1)1000 persistent virtual Desktop VMs 2)100 Generic server VMs 3)5 Microsoft exchange server VMs 4)10 SQL server
VMs

Which container configuration should be deployed two maximize data efficiency?

A. 1 container with compression enabled and 1 container with deduplication

B. 2 containers with deduplications and erasure coding enabled

C. 2 containers with no data efficiency mechanisms enabled

D. 1 containers with compression enabled and 1 container with Erasure Coding enabled

Correct Answer: A

QUESTION 5

An administrator creates a new VM, but it cannot be accessed over the network. When the administrator opens a
console in the VM dashboard, the guest OS seems to be configured correctly. However, it can only ping 127.0.0.x
addresses.

What is the likely issue?

A. The VLAN configuration is incorrect.

B. A volume group must be attached to the VM.

C. Guest VM firewall is preventing outbound SSH connections.

D. There is no network on the cluster.

Correct Answer: A
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